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Time : Three hours Maximum : 80 marks

PART A — (10 x 2 = 20 marks)
Answer any TEN questions.
Each questions carries 2 marks.
1. Define bipartite graph with an example.
QOUEE GO TOSH5ETLHL6r T

2. Define regular graph with an example. Is every
regular graph is an complete graph.
eurstar  Csrl (@ aTOHSHSST_(HL6T e
T 6(LpMIE, CaETL(H(H (LP(Lp euenFalm?

3.  Give an example of a closed walk of even length
which does not contain a cycle.

e @erseirm Berd @QraT() 2-6TeT e epig Ll
BeDL_&5E T(HSHISSTL(h &(HS.
4, Define cut point and bridge with an example.

Qeul_(HLs Leefl, Lmeid - THSEHISSTL(H L6 6l 6rmds 3.



10.

Define Eulerian graph with an example. For what
values of n, is k, eulerian?

e CaTH\ T(HdgISsTL (D6 cuenguml. K, puieor
Cam_(h\(m ererflled 72 -6t LI Smewr.

Define planar graph with an example. Is K,
planar.

SerGaTL (B T (HSSIHHTL_(HL6iT cuepTWIM).
K., senGaml (him?

Show that every non trivial tree G has atleast two
vertices of degree 1.

REMIHE A0eg Copul L CarhHiEmer 2 LW e
GonHsg Uy 1 o6rer @reawr(h Latallsamer 2 enl wig)
ereu Hlmies.

Define array and vector

cuflens LHMID GleudsL e uenFW).

Define structure.

SL_(HLOTETLD -eUEnFulImI.

Write the syntax for if-else statement.

If else et QUITg) Qg EUSENS GT(LPGIS.
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11.

12.

13.

14.

15.

What are pointers? Explain with an example.
&L1q HET GTTDTE eTenan? eT(HSEHISSHTL (D6 6Nl 6rmds (.
Give any 3 advantages of functions.

armyseflen 3 LWTUTHSET WTeneu?

PART B — (5 x 4 = 20 marks)
Answer any FIVE questions.
Each questions carries 4 marks.

Prove that a graph is hamiltonian iff its closure is

hamailtonian.

em Cesri@m CaplloCLrailue erafled  yHer
SjanLajb CanloCLreaflwer erar Hlme,s.

Explain Fleur’s Algorithm with an example.
osL@piflen Qawpanmen eT(H&SISSTL (D6 afleurl.

Prove that a closed walk of odd length contains a

cycle.

henpBerd Q& megr eLPIg L] BEnL &LPEDED
QamanTiq (H&ESLD 6TET Hlmie,s.
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16.

17.

18.

19.

Show that in any group of two or more people
there are always two with exactly the same

number of friends inside the group.

@uanr(h gl ASHEG COUl L BUTSET 2 6Ter
Gpeded erlCumpgId sMlwns @ram® BUTSEHES

panTUTsatlen eTamanflEans S Sjerelled 2 6TeTg eTenm

Hlmicys.

Show that K, is non-planar.

K cremug) genCaml(h(m @eane eTansd S (hs.
Explain any six characteristic functions.
JCIHELD M (&WTFFTTLFHEGT 66T EH.

Write a program to find the integral value using

Simpson’s rule.

Sibliger elldleows vweaTu(BdS CQgransuil () wHiiemu
s (H191g &8 SL 1D 6T(pg)I.
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20.

21.

22.

PART C — (4 x 10 = 40 marks)
Answer any FOUR questions.
Each questions carries 10 marks.

Show that a graph G with atleast two points is

bipartite iff its cycles are of even length.

@@ CarO@m G & @onhs LLgb @)@ Leeflger @)
UGS euenreurs o 6Temgl eTaildd HET AMETSHF)
FPOSBEHD Qrliol  Borsms CsraighE@GL e
Bieys.

Prove that the maximum number of lines among

all p point graphs with no triangles is [PZ].

@m Casri@mele oder p  eraflsEpsdlan Cul
w&Caramflveons CQumn Car(saflen  erammentsamnd

P71,

Let Gbe a graph with p points and let u and v

be non adjacent points in G such that

d(u) +d(v) = p, then prove that G is Hamiltonian

iff G + wv 1s hamiltonian.
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23.

24.

25.

G eeugl p yetaflser o erer e Caml (B WLHMID
u,v eranug AMS5HSE Qeoers @@ Yeraflser,
du)y+d)zp, e Q@Qméawrame G @
CamieoGLmeflwiesr Greu Blmieys. G (T
CanlleCLmesflwien eTeufled G +uv (T
CamileCLraflwen erar Hlmies.

Write a program to solve a set of simultaneous
linear equations.

Qgrursflurer Cpflw gwerum’enl STLUUSHE 6
FILLID eT(pg)s.

Write down the difference between array and
structure.

aflengs@d sl (oragsdngd QerGu 2 drer

NSHWIMEBISEET 6T(LPFI5.

Write a ‘C’ program to find the length and
substring of a string using switch staement.

Switch QgrLenyl LweTLBHSSH aurrsamgsaian Barsans

sranr ‘C’ S Lib cueny.
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